
Similar Subsequence
Input file: standard input

Output file: standard output

Time limit: 2 seconds
Memory limit: 64 megabytes

Two sequences {a1, a2, . . . , an} and {b1, b2, . . . , bn} are similar if and only if (ai − aj) · (bi − bj) > 0 for all
1 ≤ i, j ≤ n.

Bobo had two sequences A = {a1, a2, . . . , an} and B = {b1, b2, . . . , bm}, and he would like to check whether
B contains a subsequence similar to A.

Input
The first line contains 2 integers n,m (1 ≤ n,m ≤ 500).

The second line contains n integers a1, a2, . . . , an (1 ≤ ai ≤ n).

The third line contains m integers b1, b2, . . . , bm (1 ≤ bi ≤ m).

It is guaranteed that A is a permutation of {1, 2, . . . , n} and contains NO subsequences similar to either
{2, 1, 3} or {2, 3, 1}.

Output
“Yes” if B contains a subsequence similar to A, “No” otherwise.

Examples
standard input standard output

3 4

1 2 3

1 3 2 4

Yes

3 4

1 2 3

4 4 4 4

No
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